Scores and Comments on Student Responses

To the Hackelton Essay

Sample Response #1  

This essay shows a basic understanding of the prompt essay, but, even though the writer takes a clear stance in response to the prompt question, he/she fails to develop support for his/her thesis with sufficient examples.  The whole argument relies on a generalization from a single example and the connection to Hackelton is never really made.  In addition, the presence of  sentence level errors detracts from readability.

Score: High Fail

Sample Response #2

The strong points of this essay are its clear focus, its organization and the way the examples are carefully connected to the thesis.  On the other hand, this essay remains marginal because sentence-level errors do occur more frequently than we would wish.  For the most part, however, grammar and mechanics are under control and  the errors made do not interfere with the reader’s comprehension.

Score: Low Pass

Sample Response #3

This essay offers a thesis which responds directly to the prompt question.  It uses examples for support and ties them directly to its thesis.  In spite of occasional errors, the writing demonstrates competence at the sentence level.

Score: Pass

Sample Response #4

This essay seems to have a grasp of the prompt essay and offers two examples as supporting material.  Is is less than successful, however, because the examples are not adequately connected to the thesis and, by the end, it appears that the focus of the essay has been diverted to the fairness/unfairness of the writer’s own personal treatment as a worker.  The sentences contain frequent minor and occasional major errors in grammar and mechanics.

Score: Fail

